TU AGIR

ON RAVIR

ON FINIR

TU SAISIR
VOUS AGIR
ON SAISIR
VOUS RAVIR
VOUS PUNIR
TU GUERIR
ELLES AGIR
NOUS OBEIR
TU REUSSIR
VOUS BATIR
VOUS ROUGIR
VOUS CHOISIR
ELLES GUERIR
ELLES REUSSIR
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Le Present (-ir verbs)

ON AGIR
TU RAVIR

TU PUNIR

TU ROUGIR
NOUS AGIR
ON OBEIR
NOUS RAVIR
VOUS FINIR
TU CHOISIR
ON GUERIR
NOUS ROUGIR
ELLES PUNIR
VOUS SAISIR
VOUS GUERIR
ELLES OBEIR
ON DESOBEIR
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TU FINIR
ON PUNIR

TU OBEIR

TU BATIR

ON ROUGIR

ON BATIR

ON NOURRIR
ON CHOISIR

TU REMPLIR
ON REMPLIR
ON REUSSIR
ELLES FINIR
NOUS BATIR
VOUS NOURRIR
VOUS REUSSIR
TU DESOBEIR
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